Applied Physics A
Universal Gravitation

1.  Fred has a mass of 70.0 kg and Sarah has a mass of 50.0 kg.  Fred and Sarah are standing 20.0 meters apart on the gym floor.  What is the force of gravitational attraction between Fred and Sarah?  Show F, W, A

2. A 1.0 kg mass weighs 9.8 N on the Earth’s surface.  The radius of the Earth is 6.4 x 106 m.  Calculate the mass of the Earth.  Show F, W, A

3. Fred has a mass of 70.0 kg and Sarah has a mass of 50.0 kg.  The force of gravitational attractions between Fred and Sarah is 5.84 x 10-10 N.  How far apart are Fred and Sarah standing?  Show F, W, A
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